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& [ B A BE KT 6. 50 6. 20 0. 00 1.30 100. 0 0.0 0. 100. 100. 0| 7 2 7 7 /b Ak
15. 8 0 ~ 15. 3.50 3.50 1. 30

18 [ B A BE KT 3. 50 3. 40 0. 00 1.30 100. 0 0.0 0. 100. 200. 0|7 & 7 7 )L i
15.9 0 ~ 16. 3.50 3.50 1. 30

& [ B A BE KT 3. 50 3. 00 0. 00 1.25 100. 0 0.0 0. 100. 300. 0|7 & 7 7 )L i
16.0 0 ~ 16. 3.50 3.50 1.25

& o] B A BE KT 3. 50 3.10 0. 00 1.25 100. 0 0.0 0. 100. 400. 0|7 & 7 7 )L i
16. 1 0 ~ 16. 6. 50 3.50 1.25

& i) B A BE KT 6. 25 4. 50 0. 00 0.90 100. 0 0.0 0. 100. 500. 0|7 & 7 7 )L i
16. 2 0 ~ 16. 3.50 3.50 0.90
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16.3 0 ~ 16. 3.25 3.80 0.95

& [ B A BE KT 3.25 4.50 3. 00 0.95 100. 0 0.0 0. 100. 700. 0|7 A 7 7 )L MLk
16. 4 0 ~ 16. 3.25 3.50 0.95
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16.5 0 ~ 16. 3.25 3.50 0.95

(Y= NI 3.25 4. 40 0. 00 0.95 100. 0 0.0 0. 100. 900. 0|7 A 7 7 /L %k
16. 6 0 ~ 16. 3.25 3. 60 0.95

(Y= NI 3.25 4. 40 0. 00 0.95 100. 0 0.0 0. 100. 1,000. 07 27 7 )L &k
16. 7 0 ~ 16. 3.25 3. 60 0.95

Y SE S NI 3.25 4. 60 3. 00 0.95 100. 0 0.0 0. 100. 1,100. 07 27 7 )L &k
16. 8 0 ~ 16. 3.25 3.50 0.95

(Y= NI 3.50 4. 50 2. 60 0.95 100. 0 0.0 0. 100. 1,200. 07 27 7 )L &k
16.9 0 ~ 17. 3.50 3.50 0.95

(Y= NI 3.25 4. 50 0. 00 0. 95 89.0 0.0 11. 100. 1,300. 07 27 7 )L &k
17.0 0 ~ 17. 3.25 3.50 0.95
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17.1 0 ~ 17. 3.25 3.50 0.95
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17.2 0 ~ 17.3 0 3.25 3.50 0.95
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18. 2 0 ~ 18.3 0 6. 50 4.10 0.95
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18.3 0 ~ 18. 4 0 3.50 3.00 0.95

(Y= NI 3. 50 4.30 1.50 1.25 100. 0 0.0 0.0 100. 0 2,700. 0|7 A 7 7 /L %L
18. 4 0 ~ 18.5 0 3.50 3.00 0.95

(Y= NI 3. 50 4.30 0. 00 1.45 100. 0 0.0 0.0 100. 0 2,800. 0|7 A 7 7 /L %L
18.5 0 ~ 18.6 0 3.50 3.00 0.95




s

£ OIE K M OF 10

3K
BARA 0210 FE (P SA 3R)
L) =l A& 53
X 5] (BBt ol TE:T M) m m EINAE & % 1 O FE A T
OB | A B | oBER | B OB | E OB | b i TE A% i
m

& [ B A BE KT 3. 50 4.30 0. 00 0.95 100. 0 0.0 0.0 100. 0 2,900. 0|7 2 7 7 /b Atk
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@l b 5 &% 3. 50 3.00 0. 00 1.25 100.0 0.0 0.0 100.0 3,400. 0|7 2 7 7 /v Mk
19. 1 0 ~ 19.2 0 3.50 3.00 0.75

@l b 5 & 1% 3. 50 3.00 0. 00 0.75 100.0 0.0 0.0 100.0 3,500. 0|7 2 7 7 v Mk
19.2 0 ~ 19.3 0 6. 50 3.00 0.75

RN S =X 6. 50 3.00 0. 00 0.75 93.6 0.0 6.4 100.0 3,600. 0| 7 A7 7 /b &k
19.3 0 ~ 19. 4 0 3.50 0. 00 0.75

YR SRS ] 3.50 3.00 0. 00 0.75 93.5 0.0 6.5 100.0 3,700. 0|7 A7 7 )b &4k
19. 4 0 ~ 19.5 0 3.50 0. 00 1. 00

RN S =X 3.50 3.60 0. 00 0.75 100.0 0.0 0.0 100. 0 3,800. 0|7 A7 7 )b &tk
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19.6 0 ~ 19.7 0 6. 50 3.50 0.75
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b 5 &% 3. 00 0.00 0. 00 0. 50 172.0 0.0 0.0 172.0 4,372. 0|7 27 7 v Mk
20. 0 0 ~ 20. 1 72 3. 00 0. 00 0. 50

A b 5 &% 3. 50 0.00 0. 00 0. 50 118.0 0.0 0.0 118.0 4,490. 0|7 2 7 7 /v Mk
20. 1 72 ~ 20. 3 0 3.50 0. 00 1.95

A b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 4,590. 0|7 2 7 7 )L Mk
20. 3 0 ~ 20. 4 0 3.50 0. 00 0.55

@l b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 4,690. 0|7 2 7 7 )L Mk
20. 4 0~ 20.5 0 3.50 0. 00 0. 60

@l b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 4,790. 0|7 2 7 7 /v Mk
20.5 0~ 20. 6 0 3.50 0. 00 0. 58

@l b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 4,890. 0|7 =2 7 7 /v Mk
20. 6 0 ~ 20. 7 0 3.50 0. 00 0.55

@l b 5 & 1% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 4,990. 0|7 2 7 7 /v Mk
20. 7 0 ~ 20. 8 0 3.50 0. 00 2.08

RN S =X 3.50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 5,090. 0| 7 A 7 7 /b &k
20. 8 0 ~ 20.9 0 3.50 0. 00 2.34

YR SRS ] 3.50 0. 00 0. 00 0. 50 100.0 0.0 0.0 100.0 5,190. 0| 7 A 7 7 /b &k
20.9 0 ~ 21.0 0 3.50 0. 00 0. 50

RN S =X 3.50 0.00 0. 00 0. 50 100.0 0.0 0.0 100. 0 5,290. 0| 7 A 7 7 )b &4k
21.0 0 ~ 21. 1 0 3.50 0. 00 0. 52

RN S =X 3. 50 0. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 5,390. 0|7 A 7 7 )b &4k
21. 1 0 ~ 21.2 0 3.50 0. 00 0. 26

RN S =X 3.50 0. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 5,490. 0| 7 A 7 7 )b &4k
21.2 0 ~ 21.3 0 3.50 0. 00 3.16

RN S =X 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100. 0 5,590. 0| 7 A 7 7 /b &k
21.3 0 ~ 21. 4 0 3.50 0. 00 0.58

YR S-S ] 3. 50 0. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 5,690. 0| 7 A 7 7 /b &4k
21. 4 0 ~ 21.5 0 3.50 0. 00 0.55
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b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 5,790. 0|7 2 7 7 /v Mk
21.5 0 ~ 21.6 0 3.50 0. 00 1. 29

A b 5 &% 3. 50 0.00 0. 00 1.29 100.0 0.0 0.0 100.0 5,890. 0|7 =2 7 7 /L Mk
21.6 0 ~ 21.7 0 3.50 0. 00 0. 50

A b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 5,990. 0|7 =2 7 7 /L Mk
21.7 0 ~ 21.8 0 3.50 0. 00 0. 50

@l b 5 &% 3. 50 0.00 0. 00 0. 50 93.8 0.0 6.2 100.0 6,090. 0|7 2 7 7 )L Mk
21.8 0~ 21.9 0 3.50 0. 00 0. 56

@l b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 6,190. 0|7 2 7 7 /L Mk
21.9 0~ 22.0 0 3.50 0. 00 0. 56

@l b 5 &% 3.25 6.02 0. 00 0.90 100.0 0.0 0.0 100.0 6,290. 0|7 2 7 7 )L Mk
22.0 0 ~ 22. 1 0 3.50 0. 00 0.85

@l b 5 & 1% 3. 50 6.02 0. 00 0.90 100.0 0.0 0.0 100.0 6,390. 0|7 2 7 7 )L Mk
22. 1 0 ~ 22. 2 0 3.50 0. 00 0.85

RN S =X 3.50 5.82 0. 00 0. 95 100.0 0.0 0.0 100.0 6,490. 0|7 A 7 7 )b &k
22. 2 0 ~ 22.3 0 3.50 0. 00 0.85

YR SRS ] 3.50 5.82 0. 00 0. 95 100.0 0.0 0.0 100.0 6, 590. 0| 7 A 7 7 /b &kt
22.3 0 ~ 22. 4 0 3.50 0. 00 1.93

RN S =X 3.50 4. 89 0. 00 1.22 100.0 0.0 0.0 100. 0 6, 690. 0| 7 A 7 7 )L &kt
22. 4 0 ~ 22.5 0 3.50 0. 00 1.33

RN S =X 3. 50 4.78 0. 00 1.28 100.0 0.0 0.0 100. 0 6, 790. 0| 7 A 7 7 )b &k
22.5 0 ~ 22. 6 0 3.50 0. 00 1.33

RN S =X 3.50 4.78 0. 00 1.28 67.0 0.0 0.0 67.0 6, 857. 0| 7 A 7 7 )b &k
22. 6 0 ~ 22. 6 67 3.50 0. 00 1.33

RN S =X 3. 50 4. 50 0. 00 1.50 1.5 0.0 31.5 33.0 6,890. 0| 7 A 7 7 /b &k
22. 6 67 ~ 22.7 0 3.50 0. 00 1. 50

YR S-S ] 3. 50 4.93 0. 00 1.25 100.0 0.0 0.0 100. 0 6,990. 0| 7 A 7 7 )b &k
22.7 0 ~ 22.8 0 3.50 0. 00 1.22
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b 5 &% 3.50 3.40 0. 00 1.25 100.0 0.0 0. 100. 7, 090. O|HEZK ML A%
22.8 0 ~ 22. 100 3.50 3.00 0.75

A b 5 &% 3.50 3.50 0. 00 1.25 100.0 0.0 0. 100. 7, 190. O|HEZK ML A%
22.8 100 ~ 23. 0 3.50 2. 90 0.75

A b 5 &% 3. 50 3.60 0. 00 1.25 100.0 0.0 0. 100. 7,290. 0|7 27 7 /L &%k
23.0 0 ~ 23. 0 3.50 2. 90 0.75

@l b 5 &% 3. 50 3.40 0. 00 1.25 100.0 0.0 0. 100. 7,390. 0|7 27 7 /L sk
23.1 0~ 23. 0 3.50 2. 60 0.75

@l b 5 &% 3. 50 3.40 0. 00 1.25 85.0 0.0 15. 100. 7,490. 0|7 2 7 7 /L sk
23.2 0~ 23. 0 3.50 3. 40 0.75

@l b 5 &% 3. 50 3.50 0. 00 1.25 100.0 0.0 0. 100. 7,590. 0|7 2 7 7 /L sk
23.3 0 ~ 23. 3 3.50 3.70 0.75

@l b 5 & 1% 3. 50 3.40 0. 00 1.25 100.0 0.0 0. 100. 7,690. 0|7 27 7 /L &%k
23. 4 3~ 23. 0 3.50 3.80 0.75

RN S =X 3.50 4. 50 0. 00 1.25 100.0 0.0 0. 100. 7,790. 07 A 7 7 /v &k
23.5 0 ~ 23. 0 3.50 3.80 0.75

YR SRS ] 3.50 4.00 0. 00 1.25 100.0 0.0 0. 100. 7,890.0[ 7 A7 7 /v &k
23.6 0 ~ 23. 1 3.50 3. 60 0.75

RN S =X 3.50 4.10 0. 00 0.75 100.0 0.0 0. 100. 7,990.0[ 7 A 7 7 /v &tk
23.7 1~ 23. 8 6. 50 3.80 0.75

RN S =X 6. 50 6. 40 0. 00 0.75 87.0 0.0 13. 100. 8,090. 0| 7 A 7 7 /b &kt
23.8 8 ~ 23. 0 3.50 7.60 0.75

RN S =X 3.50 0. 00 2.00 0. 00 40.0 0.0 0. 40. 8, 130. 0|7 A 7 7 /b b &kt
23.9 0 ~ 23. 40 3.50 4. 90 0.75

RN S =X 3. 50 0.00 0. 00 0. 50 147.0 0.0 0. 147. 8,277.0| 7 A7 7 )b &k
23.9 40 ~ 24. 0 3.50 0. 00 3.70

YR S-S ] 3. 50 0. 00 0. 00 0. 50 97.1 0.0 2. 100. 8,377.0| 7 A7 7 )b &k
24. 1 0 ~ 24. 0 3.50 0. 00 0. 80
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b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 8,477. 0|7 2 7 7 )L Mk
24. 2 0 ~ 24. 3 0 3.50 0. 00 0.75

A b 5 &% 3. 50 0.00 0. 00 0. 50 96. 0 0.0 4.0 100.0 8,577. 0|7 27 7 /L Mk
24. 3 0 ~ 24. 4 0 3.50 0. 00 0.72

A b 5 &% 3. 50 0.00 0. 00 0. 50 100.0 0.0 0.0 100.0 8,677.0|7 27 7 /L Mk
24. 4 0 ~ 24.5 0 3.50 0. 00 0.75

@l b 5 &% 3. 50 0.00 0. 00 1.20 95. 6 0.0 4.4 100.0 8, 777.0| 7 2 7 7 /v Mk
24.5 0~ 24. 6 0 3.50 0. 00 0.78

@l b 5 &% 3. 50 0.00 0. 00 1. 44 100.0 0.0 0.0 100.0 8,877.0|7 27 7 /L Mk
24. 6 0~ 24.7 0 3.50 0. 00 0.75

@l b 5 &% 3. 50 0.00 0. 00 1.00 100.0 0.0 0.0 100.0 8,977. 0|7 2 7 7 /v Mk
24.7 0 ~ 24. 8 0 3.50 0. 00 0. 79

@l b 5 & 1% 3. 50 0.00 0. 00 1.24 100.0 0.0 0.0 100.0 9,077. 0|7 2 7 7 )L Mk
24. 8 0 ~ 24.9 0 3.50 0. 00 0.76

RN S =X 3.50 0.00 0. 00 1.25 100.0 0.0 0.0 100.0 9, 177.0| 7 A 7 7 )b b &k
24.9 0 ~ 25.0 0 3.50 0. 00 0.75

YR SRS ] 3.50 0. 00 0. 00 1.00 100.0 0.0 0.0 100.0 9,277.0| 7 A7 7 )b b &4k
25.0 0 ~ 25. 1 0 3.50 0. 00 0.78

RN S =X 3.50 0.00 0. 00 1.00 100.0 0.0 0.0 100. 0 9,377.0| 7 A7 7 )b b &k
25. 1 0 ~ 25. 2 0 3.50 0. 00 0.75

RN S =X 3. 50 0. 00 0. 00 1.00 95.0 0.0 5.0 100. 0 9,477.0| 7 A7 7 )b b &k
25. 2 0 ~ 25.3 0 3.50 0. 00 0. 72

RN S =X 3.50 0. 00 0. 00 1.00 100.0 0.0 0.0 100. 0 9,577.0| 7 A7 7 )b b &k
25.3 0 ~ 25. 4 0 3.50 0. 00 1.95

RN S =X 3. 50 0.00 0. 00 1.00 100.0 0.0 0.0 100. 0 9,677.0| 7 A7 7 )b b &4k
25. 4 0 ~ 25.5 0 3.50 0. 00 3.95

YR S-S ] 3. 50 0. 00 0. 00 1.27 100.0 0.0 0.0 100. 0 9,777.0| 7 A7 7 )b b &k
25.5 0 ~ 25. 6 0 3.50 0. 00 1.93
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b 5 &% 3. 50 0.00 0. 00 1.26 100.0 0.0 0.0 100.0 9,877. 0|7 2 7 7 )L Mk
25. 6 0 ~ 25.7 0 3.50 0. 00 0. 99

A b 5 &% 3. 50 0.00 0. 00 1.07 91.0 0.0 0.0 91.0 9,968. 07 27 7 /L Mk
25.7 0 ~ 25.7 91 3.50 0. 00 1.12

A b 5 &% 3. 50 3.00 0. 00 0.88 2.0 0.0 27.0 29.0 9,997. 0|7 2 7 7 /L Mk
25.7 91 ~ 25. 8 20 3.50 0. 00 0. 65

@l b 5 &% 3. 50 3.00 0. 00 0.88 80. 0 0.0 0.0 80.0[ 10, 077.0[7 &2 7 7 /v &k
25. 8 20 ~ 25.9 0 3.50 0. 00 0. 65

@l b 5 &% 3. 50 3.30 0.90 0.75 100.0 0.0 0.0 100.0| 10, 177. 0|7 A 7 7 )b b &k
25.9 0~ 26.0 0 3.50 0. 00 0.75

@l b 5 &% 3. 50 3.00 0.90 0.75 100.0 0.0 0.0 100. 0| 10, 277.0|7 A7 7 /b &k
26.0 0 ~ 26. 1 0 3.50 0. 00 0.75

@l b 5 & 1% 3. 50 3.20 1.80 0.95 -19.0 0.0 119.0 100.0| 10, 377.0|7 A7 7 )b &k
26. 1 0 ~ 26. 2 0 3.50 0. 00 1. 20

RN S =X 3.50 3.00 2.90 0.95 100.0 0.0 0.0 100.0| 10, 477.0|7 A7 7 /b b &k
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